Chapter 13 - Multiple Choice - Questions

1
Barner's research identifies a number of changes that will take place over the next number of years which will reshape the work environment. Which of the following is not one of these changes?


1
A just-in-time workplace


2
The ascendancy of knowledge workers


3
A younger workforce


4
Computerised coaching and electronic monitoring

2
Look at the figure below which represents the changes in the business and its impact on the people and the HR Department and then choose the option that correctly reflects the missing word.


	
	(a) ________________ 


	

	
	Globalization

Employees

Investors


	
	(b) _____________

Customers

Competitors


	

	
	
	

	
	

	
	(c) ___________________ 
	

	
	Talent

Speed of Change

Shared (d) _________

Culture or firm brand

Accountability

Efficiency


	
	Collaboration

Learning

Leadership brand

Innovation

Strategic clarity
	

	
	
	
	
	

	
	
	People



	
	

	
	
	
HR


	
	

	
	
	
	
	

	
	Practices
	
	Department
	


1
(a) Global Business challenges (b) technology (c) Organisational Responses (d) mindset

2
(a) Organisational Responses (b) information (c) Global Business Challenges (d) mindset

3
(a) Global Business challenges (b) technology (c) organisational Responses (d) vision

4
(a) Organisational Responses (b) information (c) Global Business challenges (d) vision

3
With the implementation of virtual organisations a number of issues will need attention from a management perspective. These include:


a
effective communication and planning

b
clear agreements about performance expectations

c
clear agreements about team priorities

d
clear agreements about communication links

e
clear agreements about resource allocation

f
awareness of possible misunderstandings and interpretations due to emails

1 only a, b, d and e

2 only b, d, e and f



3
only a, c and d



4
All of the above

4
Virtual organisations have a number of characteristics. Which of the following is not one of these characteristics?


1
They will reduce the existence of home offices


2
They will be reliant on the medium of cyberspace


3
They will be enabled via new computing and communication developments


4
They will initially only exist across conventional organisational structures

5
“HR professionals utilising these types of workers will have to find new ways to motivate them, as serious problems in performance and morale will occur”. This statement is true for _____________.


1
virtual organisations


2
the growth of worker diversity


3
the ageing workforce


4
the just-in-time workforce

6
One of the changes due to take place over the next few years that will reshape the work environment where HR will have to spend more time and money on training is the:


1
ageing workforce


2
virtual organisation


3
just-in-time workforce


4
growth worker diversity

7
Which one of the following statements regarding the new millennium workplace and the changes that will take place in the near future is not correct?

1
As a result of the computer networks, faster decision-making and easier access to company information are possible.

2
With the birth of a new dynamic workforce the processes and methods of performing work are no longer fixed but fluid.

3
HR professionals utilising a just-in-time workforce do not have to find new ways to motivate them.

4
Computerised coaching and mentoring provides easier control by managers over work performed may result in employees feeling manipulated and exploited, placing the relationship between the manager and employee under great pressure.

8
In the past, companies were to a large extent reluctant to employ older workers for a number of reasons. Which of the following is not a reason for this reluctance?


1
The labour law did not allow it


2
They were seen as less productive


3
They were less flexible


4
They were more expensive

9
Kesler identifies a number of tactics that can be used to redesign the role of HRM successfully. Which of the following is not one of these tactics?


1
Replacing existing HR managers with younger people


2
Contracting with line management for a new role for HR


3
Identifying and developing new HR competencies


4
Redesigning HR work, systems and organisation

10
In his performance capabilities model, Kesler identifies a continuum of six value-adding HR roles, each of which is a distinct competency. Which of the following is not one of these roles?


1
Catalytic influence


2
System-based


3
Diagnostic assessment


4
Innovating processes and structure

11
Look at Kesler’s performance capabilities model: defining the fundamental role of HR below and complete the missing words underneath in spaces 1-6:

	Greater leveraged

Roles
	
	Less leveraged 

roles


	1

_________
	2

__________
	3

_____________
	
	4

___________
	5

___________
	6

__________



	'Partnering role'
●
Enable others

●
Knowledge-based

●
Performance-based quality

●
Distributed resources

●
Enhance business performance

●
Knowledge transfer to line

●
Highly integrated with business process

●
Non-linear work - focus design on outcomes and competencies

●
Early life cycle
	
	'Transactional role'

●
Service others (or remove administrative barriers)

●
System-based

●
Conformance-based quality

●
Consolidated resources

●
Economy of scale/cost (commodity)

●
Few specialists/admin transferred to line

●
Parallel, stand-alone

●
Linear work - process map and redesign (for consolidation, elimination, automation)

●
Late in the life cycle


Choose from options 1, 2, 3 and 4 below in a table which correctly reflects the missing words under 1-6 above.

1

	1
	Catalytic influence

	2
	Diagnostic assessment

	3
	Innovating processes, structures

	4
	Assurances of standards

	5
	Administration and services

	6
	Problem-solving


2

	1
	Problem-solving

	2
	Administration and services

	3
	Assurances of standards

	4
	Innovating processes, structures

	5
	Diagnostic assessment

	6
	Catalytic influence


3

	1
	Administration and services

	2
	Diagnostic assessment

	3
	Catalytic influence

	4
	Assurances of standards

	5
	Innovating processes, structures

	6
	Problem-solving


4

	1
	Assurances of standards

	2
	Catalytic influence

	3
	Administration and services

	4
	Diagnostic assessment

	5
	Problem-solving

	6
	Innovating processes, structures


12
Look at Kesler’s performance capabilities model: defining the fundamental role of HR below and complete the correct missing words:

	Greater leveraged

Roles
	
	Less leveraged 

roles


	1

Catalytic influence
	2

Diagnostic assessment
	3

Innovating processes, structure
	
	4

Assurance of standards
	5

Administration and services
	6

Problem-solving

	'Partnering role'
●
(a) _________ others

●
Knowledge-based

●
Performance-based quality

●
(b) _____________ resources

●
Enhance business performance

●
Knowledge transfer to line

●
Highly integrated with business process

●
Non-linear work - focus design on outcomes and competencies

●
Early life cycle
	
	'Transactional role'

●
(c) _________ others (or remove administrative barriers)

●
System-based

●
Conformance-based quality

●
(d) ____________ resources

●
Economy of scale/cost (commodity)

●
Few specialists/admin transferred to line

●
Parallel, stand-alone

●
Linear work - process map and redesign (for consolidation, elimination, automation)

●
Late in the life cycle


Choose from options 1, 2, 3 and 4 below the list of words that correctly reflects the missing words above.

1


(a)
Service


(b)
Distributed


(c)
Disable


(d)
Consolidated

2


(a)
Enable


(b)
Distributed


(c)
Service


(d)
Consolidated

3


(a)
Service


(b)
Consolidated


(c)
Enable


(d)
Distributed

4


(a)
Service


(b)
Distributed


(c)
Enable


(d)
Consolidated

13
The following defines the fundamental role of HR. 


a
catalytic influence

b
diagnostic and fact-based analysis

c
innovating business structures and processes


d
assuring standards

e
administration and services


f
problem-solving

Choose from the list above, three roles of HR that exert more leverage. (Keeping in mind that a partnership between HR and line people creates benefits to the line organisation that are greater than the immediate efforts of the HR staff member.)


1
a, c and e


2
b, d and f


3
d, e and f


4
a, b and c

14
The following defines the fundamental role of HR. 


a
catalytic influence

b
diagnostic and fact-based analysis

c
innovating business structures and processes


d
assuring standards

e
administration and services


f
problem-solving

Choose from the list above three roles of HR that have less leverage because they are more transactional in nature and are less likely to add value to the money invested. 


1
a, c and e


2
b, d and f


3
d, e and f


4
a, b and c

15
Which term, according to Ulrich, Brockbank, Yeung & Lake best describes what HR professionals demonstrate when they add value to their business?


1
competence


2
skills


3
abilities


4
knowledge

16
According to Dave Ulrich, Wayne Brockbank and Dani Johnson, HR Managers who are successful as talent managers and organisational designers will have all of the following capabilities except for: 

1 the ability to develop talent for today and tomorrow

2 the ability to design reward systems

3 the ability to shape the organisation

4 the ability to personalise a culture

17
Which one of the following statements is incorrect?

1
HR departments have been evolving away from a traditional functional design to a team based model.

2
An increasing number of large and multinational organisations are also moving to shared services models in delivering the human resource function.

3
Given the high cost, financially as well as emotionally in moving to a shared services model (second option), companies need to take a holistic approach and carry out sophisticated financial calculations to weigh the cost up of insourcing versus outsourcing.

4
In the shared services model the first type of shared services are set up by large organisations such as consultancies to provide HR services only to their own organisation.

18
Hilborn's emerging HR organisational model can be divided into a number of legs. Which of the following is not one of these legs?


1
Administrative service centre

2
Centre of excellence

3
Business partners

4
Social responsibility

19
Which leg, according to Hilborn's emerging HR organisational model, concentrates on design rather than transactions and will have line managers as its customers?


1
Administrative service centre

2
Centre of excellence

3
Business partners

4
Social responsibility

20
Which leg of Hilborn's emerging HR organisational model is responsible for processing the payroll, benefits and other administrative aspects?


1
Administrative service centre

2
Centre of excellence

3
Business partners

4
Social responsibility

21
The HR professional who, in the future, is able to among others serve the value chain is called a ____________.


1
business ally

2
credible activist

3
operational executor

4
culture and change steward

22
The HR professional who, in the future, is able to implement workplace policies and advance HR technology is called a ____________.


1
business ally

2
credible activist

3
operational executor

4
culture and change steward

23
Which one of the following cannot be included as a trait that will be required of future HR professionals in order to be successful?

1 courage

2 reactivity

3 innovation

4 adaptability

24
Read the list below:

a an administrative service centre

b a centre of excellence

c business partners

Identify the correct combination in the four options below that reflect the legs in Hilborn's emerging HR organisational model:

1
only a


2
only a and b


3
only b and c

4
a, b and c

25
Choose the correct match between Columns A and B:

	Column A
	Column B

	Leg in Hilborn’s emerging HR organisational model
	Matching description for leg in Column A

	A
	The administrative service 
	A
	These employees do not get involved in transactions but instead act as consultants and planners, linking the business with appropriate programmes.

	B
	The centre of excellence 
	B
	Is responsible for processing the payroll, benefits among others and also focuses on the efficiency in transaction functions.

	C
	The HR business partners 
	C
	Concentrates on design rather than transactions and will have line managers as its customers. The emphasis here is on effectiveness.


Choose the option below (from 1 - 4) which reflects the correct description in Column B matched with the leg in Hilborn’s emerging HR organisational model in Column A.

1

	Column A
	Column B

	Leg in Hilborn’s emerging HR organisational model
	Matching description

	A
	A

	B
	B

	C
	C


2

	Column A
	Column B

	Leg in Hilborn’s emerging HR organisational model
	Matching description

	A
	B

	B
	C

	C
	A


3

	Column A
	Column B

	Leg in Hilborn’s emerging HR organisational model
	Matching description

	A
	C

	B
	A

	C
	B


4

	Column A
	Column B

	Leg in Hilborn’s emerging HR organisational model
	Matching description

	A
	A

	B
	C

	C
	B
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